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  Find the value of k.



K =?
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If point U is translated left 5 units and down 2 units, what is the new location U’?19.

[image: ]A  (3, 6)
B  (6, 3)
C  (8, 8)
D  (3, 10)
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  Solve the following inequality?26.
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a. v < -7
b. v > -7
c. v < 7
d. v >7
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  Find the y-intercept given the table.31.

	X
	Y

	-1
	2

	0
	3

	2
	5

	8
	11





The y-intercept is: __________
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image4.png
Items 1through 7 are in the non-calculator section of the test.

Items 8 through 50 are in the calculator section of the test.
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What is the solution to c —14 <167

Ac<2
B e>2
Oc€e<30
UDc>30
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Which of the following is true?

-10414=4
“14+10=14
10-14=4

14 x(~10) = 140
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Which number is a square root of 400 2
© A 400
U B 200

€ 40

UD2
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What is 0000012 written in scientific notation?
A 12x107%
B 12x107*

O € 12x10t

0 D 12x10°
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Directions: Click and drag each selected number to the correct box.

Arrange the three numbers shown in order from least to greatest.

Least

Greatest

4710 | 395108 I 52:10°
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Which list of numbers is arranged from least to greatest?

O A 025 17%, 2
9

2

OB 025, 2, 17%
s

€ 17%, 025 2

|

2
0D 17%, %, 0.25
9
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Directions: Type your answer in the box.

What is the value of (~15) —( ~18) + 3?7

1
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Which number is a square root of 1?7

(TSN

a




image13.png
‘The non-calculator section of the test ends here.
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A farmer has a field that is 110 % acres. She wants to separate it into 5 equally-sized

sections. In one section, she plants a crop that will cost her $67.25 per acre. How much
will it cost her to plant the crop in this section?
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Which number sentence is represented by this model?

©oo| 6o
o0 006
(C1e16) eSlc]e}
oo |666
Qoo 0006
Key
@11 0=

U A-3.5=15

©B-3:5="15

O € -3.(-5)=15

O D -3.(-5)="15
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Clarence made a scale drawing of a classroom. The scale in the drawing is 2 inches represents
9 feet. The actual length of the classroom is 36 feet. What is the length of the classroom on the
scale drawing?

A 4inches
B 8inches
€ 27 inches

C D 162 inches
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UA

Which fraction and decimal are equivalent to 107 ?

-1
— and ~0.003
1

1 -
B g5 end ~0003
-1
@ 2nd 0001

1
D 15 and 0.001
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What is the absolute value of -8.2 7
A B2

OB 41
C-41

D 82
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Kelly received a 25% discount on the purchase of a $240 bicycle. What was the amount of the
discount Kelly received?

O A $25
0B $60
€ $180

D $215
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Which number sentence Is represented by this model?

A -4.7-28
B ~4.7=-28

C 4(-N=28

]

4-(-7)="28
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Ak
12

b 12
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Find the slope of the line that passes through the
points (4,10) and (2,10).

1

0

undefined

-1

soR>




image24.png
Which statement is false?
A Al squares are rectangles.
O B Al squares are parallelograms.
O € Al thombuses are squares.

D Al thombuses are parallelograms.
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Directions: Click and drag the correct answers to the boxes.

Triangle STV and triangle ZXY are sii
these triangles?

pair of segments are corresponding sides of

s

and
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Directions: Click on a box to choose each prism you want to select. You must select all correct prisms.

‘The dimensions of 4 rectangular prisms are shown. Identify each of the prisms for which the
maximum amount of sand the prism can hold is 30 cubic inches.
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Find the slope of the line.

soRs
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Every rhombus is also a —
O A parallelogram
O B trapezoid

€ rectangle

O D square
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Quadrilateral PQMN is si

e

What is the measure of angle Z ?
O A6
O B 80°
€ 1000

O D 1150

%

w
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This table shows the dimensions of four rectangular prisms.

Rectangular Prism Dimensions

Rectangular Length Width Height
Prism (in feet) (in feet) (in feet)

qQ 8 4 5

R 3 7 2

5 4 10 12

T 2 13 5

Which rectangular prism has the greatest volume?
U A Rectangular Prism Q
U B Rectengular Prism R

€ Rectangular Prism

O D Rectangular Prism T
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55>-Tv+6
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The diameter and helght of a cylindrical container are shown.
f————16in. ——

I

The container is filled completely with cheese sauce. Which of these represents the total number
of cubic inches of cheese sauce in the container?

A me8.7
OB me167.7
U € 2r-8242n-8.7

0D 27167 +27+16+7
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Directions: Click on the grid to plot a point.

Figure LMNP will be reflected across the y-axis. Place the point on the graph that represents
point N,
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Triangle PQR is similar to triangle STU.
P
5
36 ' 13/ 112
TsU
R 15 ¢

Which proportion can be used to find 712

s_n
REEETIET)
15_n
BT n
13_12
o2
"3
p13_36

no12
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The number of 8-ounce glasses of water Shane drank each day for 12 days is represented in
this histogram.

Glasses of Water Drank

Number of Days.

2 34 56 78
Number of 8-ounce Glasses

Based on this histogram, which statement must be true?

A On exactly 2 of these days, Shane drank 1 to 2 glasses of water

B On exactly 3 of these days, Shene drank 7 to 8 glasses of water.

€ On exactly 25% of thesa cays, Shane drank 3 to 4 glasses of water.

D On exactly 60% of these days, Shane drank 5 to 6 glasses of water




image37.png
1f k = 2, what is the value of k* — (k—10) + 4k 2
JAS

B

Jc2

oD 2
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A spinner has 5 sections of equal size labeled P, Q, R, S, and T. The arrow of this spinner was
spun 15 times and landed 4 times on the section labeled Q.

Which statement best describes the experimental probabllity and theoretical probability of the
arrow landing on the section labeled Q 2

O A The experimental probabilty 's é, and the theoretical probability is é

O B The experimental probabilty is é and the theoretical prabal

0 € The experimental probabilty is %, and the theoretical probabilty is %

) D The experimental probabiity is %, and the theoretical probabity is .
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Ethan earns $12 per hour to walk 2 dogs, plus an additional $7 for brushing the 2 dogs after
their walk.

Let.x represent the hours Ethan works.
©  Lety represent the total he eams each day.

Which number sentence best represents this situation?

UA12x4247=y
OB 12r.247=y
OcC12r47=y

ODRx-7=y
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Aidan’s age is 6 years less than half of Maggie's age. Aidan's age is 4 years. What is Maggie’s age?
A 2years

B 5years

C 10years

D 20 years




image41.png
What is the solution to -12x <-7272
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Directions: Click on a box to choose the property you want to select. You must select the correct property.

Which property is illustrated by this number sentence?

(-1:7)+3=3+("1-7)

Associative Property || Commutative Property istributive
of Addition of Addition Property

Associative Property || Commutative Property Multiplicative
of Multiplication of Multiplication Identity Property
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Which graph represents the solution set to this inequality?

¥ 45<7

002 4 6 8 10 12 14
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This

stem-and-leaf plot shows the high

temperatures for a city over 20 days.

Which histogram represents the same set of data?

High Temperatures High Temperatures
High Temperatures o3 5
Stem Leaf 5 g¢
6 24577788 - 5 s
~ 7 | 0011445578 Key el 2 ]
8 |02 6]1 means 61°F - &)
£
Ei i
ER o
b 5 &
&L &FES S
Temperature Temperature
in oF) (in °F)
High Temperatures High Temperatures.
07, 27
o 5
LE &
% 4 5 4
53 It
JB L2 3
£ Ei
25 - 2.
r
E FESSS
Temperature Temperature
(in °F) (in °F)
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Marjorie bought 24 bottles of juice. Each day she opens and drinks 2 of these bottles of juice.
Which of the following best represents the number of unopened bottles of juice Marjorie has at
the end of d days?

A2d-24
B 24d -2
c24+2d

D 24-2d
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Directions: Click on a location above each bar to show the bar height.

Scatt recorded the low temperature In Richmond

each day for 10 days, This list shows the
temperatures in degrees Celsius.

89, 12°, 119, 9°, 9°, 12°, 10°, 14°, 13°, 12°

Create a histogram of this set of data.

Number of
Days

Low Temperatures

78 S0 1- 104
Temperature
(in degrees Celsius)
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‘This spinner has 6 sections of equal size. The arrow of this spinner was spun 60 times. On 45

out of 60 times, the arrow landed on a section
labeled with a multiple of 4. What was the
experimental probability of the arrow landing on a
section labeled with a multiple of 4 2

1
oAz

i
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What is the solution m%

107
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Which of the following is the algebraic form for the verbal statement shown?
13 more than the product of 4 and a number, 1"
A 213
B
B an+13

€ 4n+13)

D 1301+4)
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[&

The table shows the results of 50 rolls of  fair number cube numbered 1 to 6.

According to the data in the table, what was the experimental probability of rolling a1 ?

a ®w =
G- gle o= s

o

[Number| Frequency
L g
2 9
3 5
4 15
5 2
6 i
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Which value of k makes -5 > k +11 true?
A

UB -4

O c-16

oD -2
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Which table contains only the points that lie on the line represented by y = %,\‘ -32

[y x [y
oa[=205 oc[-1]22
48 s[7
x ]y x [y
B [-1[38 Obp|[=2]55
5[1 4|2
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What is the value of # that makes the following true?

n+(-7)="77
OA -84
B -70
oce

D70
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SAMPLE A

What is the solution to 2x = 6 ?
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Directions: Type your answer in the box.

SAMPLE B

Stephanie ran 3 miles in 30 minutes. At this rate, what is the total number of minutes it will take

Stephanie to run 2 miles?
minutes




